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1. Given the graphs below, write the summation notation for the Rlemann Sum shown, and evaluate.
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The rate that people are entering a local office is given below in people/hour. Use the table to answer questions 1-3.
Time (hours) 0 1 &F 2 F 3 2 Y
A0 pp!/hr 12 7 3 5 8
c&)
2. Use aleft Riemann sum with 4 subintervals to approximate the total number of people enterlng the office over
the interval 0 < ¢t <. . -
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3. Use a right Riemann sum with 4 subintervals to approximate the total number of people entering the office over
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4. The graph of a function gis given. Estimate Jg(x)dx with 6 equal subintervals using
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Calculate the Area under the curve between x=0 and x=4 using 8 -right hand rectangles.
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; Write your answer using summation nogation
Ay
oS ¥ "
‘ 2 L (o5) +3 (O-§>
.S (O
\ -2-
L= |

Yian S,



